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UGC NET PAPER 3 NOVEMBER 05, 2017 SHIFT 1 POLITICAL SCIENCE QUESTION PAPER

This paper contains seventy five (75) objective type questions of two (2) marks cach. All
questions are compulsory.

The Classical Tradition in political theory 1s considered o be a common school of enquiry
because

1) Unity in style and manner of argument

2} Unity in themes and stvle

(

(

(3)  Unily in searching the same goal
(4)

Unity in having a common vision for humankind
Who described the classical tradition as “Epic theory”?
(1)  Isaiah Berlin (2) Karl Popper

(3)  Sheldon Wolin (4)  Michacl Oakeshott

Match List - 1 with List - [ and sclect the correct answoer from the code eIven below

List - I List - IT
(Concepls) (Thinkers)
(a) Tacit consent (i) Rawls
(b)  Self regarding and other (i)  Berlin

regarding action

(c)  Negative and positive liberty (1) Locke
(d)  Well ordered society (tv) Bentham
Code
(@) (b)) (¢} (d)
L @ O v (i)
@ ) @) GG
B O @ @) )
(4 () @) @ )
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Who feared that Marx’s dictatorship of the proletariat would become dictatorship on the
proletariat ?

(1)  Lassalle (2} Proudhon (3)  Bakunin (4) Luxemberg

Given below are two statements, one labelled as Assertion (A) and the other as Reason (R).
Select the correct answer [rom the code given below :

Assertion (A) :

In spite of the fact that Rawls theory has strong procedural features it can also be scen as a
major contribution to social justice.

Reason (R) :

He is categorical that there is a need for rational justification of all departures from equalily.
Code :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A).

(2)  Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3)  (A)1s true, but (R) 15 false

(4)  (A) is false, but (R) is lrue

Convergence theory poinled out the convergence belween :
(1)  advanced capitalism and developed socialism
) manufacturing nations and raw material exporting countries
(3)  national interests in internalional organizations
)

need to have common policy to fight climate change

Given below are two statements, one labelled as Assertion (A) and the other as Reason (R).
Select the correct answer [rom the code given below :

Assertion (A) :
Lenin's revolutionary scizure of power 1s like a coup and negation of Marxism.
Reason (R) :
Marx thought a communist party would capture power peacefully.
Code :
(1)  Both (A) and (R) are true and (R) is the correct explanation of (A).
) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3)  (A) is true, but (R) is false.
) (A) is false, but (R) is true.
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Mao’s most original contribution was in emphasizing the revolutionary role of the :

(1)  Proletariat
(2)  Intelligentsia

(3)  Combination of the proletariat and the peasantry
(4)

4)  Peasanlry

Who questioned the view that Locke was a defender of the Glorious Revolution ?

(1)  Tawney (2)  Sabine (3)  Macpherson (4)

Which political thinker rojects Aristotle completely ?

(1) Machiavell (2)  Hobbes (3)  TLocke (4

R

Who described Rousscaun as a totalitarian democrat ?

(1)  Karl Popper (2) Carl Friedrich  (3) Ilannah Arendt (4)

Power, not right is the focal point for Hobbes. Why 7
(1
2

) Power is more important than right.

(2)  Rights will entail duties,

(3)  There is an inherent conflict between power and right.
(4)

Difficult to obtain agreement among individuals.

Ashceralt

Rousscau

Jacob Talmon

Match [ist - I with List - Il and sclect the correct answoer from the code given below -

List - I List - II
(Marx's writing) (Themes)
(a) Paris Manuscripts (1)  Relative Autonomy of the state
(b)  Das Capital (ii)  Dictatorship of the proletariat
(¢) 18t Brumaire of Louis Bonaparte (iif)y  Surplus Value
(d)  Critique of the Gotha Programme (iv) Alienalion

Code :
a)

1)

( c)
(
(
(

(
(i)
(1)
iii) (i)
(i) @ ()

V)
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Which of the following is true of Machiavelli’s political theory ?
(a) Idolized Ancient Rome

(b)  Used History extensively to draw lessons for state-craft
(¢} Drivate army needed for the success of a prince / ruler
(d)  Blamed religion for Italy’s moral regeneration

Choose the correct answer from the code given below :

(1) (a) and (b) (2) (b} and (d) (3) () and (d)

How did Gandhi describe himself 7
(1) Philosophical Anarchist (2)  Liberal democral

(3)  Social Democrat (4)  Communist

(4)
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(a) and (c)

Which of the following 1s true of Aristotle’s contribution to comparative method ?

(a)  To study the then existing political svstems
(b)  To develop an empirical science of politics
(¢} Toarrive at the Ideal type

(d)  To apply abstract ideas in practice

Code :

(1) (a) and () (2) {(a) and (b) (31 (b) and (d)

Now Institutionalism emphasises on ¢
(1) Institutions rather than individuals

(2) A balance between mnstitutions and individuals
(3) A group theorv in politics
()

4

Economics dominates over politics

Easton described his drastic revision in political science in 1969 as :

(1) Counter Reformation (2)  Genuine Revolution

(¢) and (d)

(3)  Correction to earlier studies (4)  Abandoning his own earlier research
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The essential framework of liberal political economy was provided by :

(1)  Locke (2)  Tlume (3)  Montesquicu (4)  Smith

What has mainly accounted for the evolution of the unwritten constitution of Great Britain ?
(1) The British practice of following continuily and change peacefully

(2)  The British acceptance of convenlions as sacred as law bul not enforceable in courts
(3)  'The British belief that the ‘King can do no wrong’

(4)  The common law tradition in Britain

In which country the practice of ‘once a speaker alwavs a speaker” is followed ?

(1)  USA (2 UK (3} India (4)  Switzerland

The Supreme Courl’s right to judicial review was first established in :

(11  USA (2)  India (3} France (4)  Switzerland

In which of the [ollowing countries individual citizen’s rights have developed by the significant
intervention of the judictary -

(1)  Swilzerland (2 LLK (3) USA (4) TPrance

Match List - I with List - [I and select the correct answer from the code given below :

[ist - [ List - I1
(Electoral system) (Countries)
(a)  First-Past-the-FPost System (i)  France
(b)  Sccond Ballot System (i)  Germany
(c)  Alternative Vote Syslem (i) USA
(d)  Additional Member System (iv)  Australia

Code :
(@) (b) (c)

(1) (iv) (D)  (if)

(2) )

(3)y (1) (i) (i)

(4) (i) (1) (iv)
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Given below are those statements, one labelled as Assertion (A) and the other as Reason
(R). Select the correct answer from the code given below :

Assertion (A) :

The theories of development of the 1950°s like behaviouralism, could never develop an
universally accepted paradigm because they were locally dated.

Reason (R) :

They originated during the Cold War period and consequently biased.
Code :

1)
(2)  Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3)  (A) is true, but (R) 15 false.

(4)

Both (A) and (R) are true and (R) is the correct explanation of (A).

(A) is false, but (R) is true,

Political Socialization deals with :

Process of formulating political ideas
Carcer planning and political socialization
Elaborating the theories of Durkheim

Elaborating, the theories of Weber

Subject - participatory culture was associated with :
(1) Erstwhile communist regimes (2)  Fascist regimes

(3)  TPost Colonial Societies (4)  Non ldeological dictatorships

Who has commented that politics is about diversily and conflict and the essential ingredient
of its existence is scarcity ?

(1)  Leftwich (2)  Lasswell (3)  Crick (4)  Millett

Huntington criticizes the modernization theory for not taking into account :

(1)  DPresence of several competing value systems or cultures in traditional society
) The difference between base and superstructure

(3)  The question of leadership
)

Overdeveloped nature of modernizing nations
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Who among the following provided an economic approach to elitism 7

(1) Pareto (2)  Mosca (3 Mills (4) Burnham

According to whom the Indian Constitution aimed at the tripartite goal of national unity,
democracy and social revolution as three distinct strands interwoven into a “scamless
web” 7

(1)  W.IL Morris Jones (2)  Rajni Kothari

(3)  Granville Austin (4)  Sunil Khilnani

Which of the following grounds come within the ambit of reasonable restrictions put by the
state on the exercise of freedom under Article 19 of the Indian Constitution ?

(a)  Security of state (b)  Public order

(c)  Decency or moralily (d)  Contempt of court
Select the correct answer from the code given below :

(1)  (a) and (b) only (2) (a) and (d) only
(3) (&), (b) and (¢) only (4)  (a), (b), (¢) and (d)

Once approved by Parliament for how long can the proclamation of financial emergency
remain in operation 7

(1) 2 months (2) 3 vears

(3)  Till the term of that Parliament  (4)  Indefinitely

Consider the following statements about the Vice - President of India and select the correct
answer from the code given below :

(a) Llected by the system ol proportional representation by a single transferable vole
(b)  FElected by all the members of the Lok Sabha and the Rajyva Sabha

(c)  Members of Stale Assemblies have no right to vote

(d) He is the Chairman of the Rajya Sabha

Code :

(1) (a) and (b) (2) (b}, (c) and (d)

(3)  (a), (b), (¢) and () (4)  (a), (b) and (c)
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Arrange the chronological order of the following cases and select the correct answer from

the code given below :

(a)  Bandhua Mukti Morcha V. Union of India

(b)  M.C. Mehta V. Union of India

(c)  ADM Jabalpur V. Shiv Kant Shukla

(d)  BALCO Employees Union V. Union of India

Code
(1) (c). (&), (b), (d) (2)
(3} (d), (b), (a), (c) (4)

Which of the following principles evolved from the judgement delivered in Bommai case in
relation to Article 356 7 Choose correct answer from the code given below :

(a)  The proclamation 1ssucd under Article 356 1s Subject to judicial review

(b)  The state Assembly should not be dissolved immediately after issuing proclamation

(¢)  The Assembly should be dissolved only after the Parliament has approved the

proclamation

(d)  The court may require the Union Government to disclose the malerial on the basis of

which 1t was decided to invoke Art. 356

Code :
(1) (b) and (¢) (2)
(3) (), (b) and (d) (4)

Justice Punchhi Commission is related to :
(1)  Urban Governance (2)

(3)  District Administration (4)

(a), (¢) and (d)

(a), (b), {c) and (d]

Union - State Relations

Electoral Reforms
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Match List - I with List - IT and select the correct answer from the code given below :

List - I List - I1
(Center’s Accord with) (Year)
(a)  Assam (1) 1988
(b)  Mizoram (1) 1985
(¢)  Tripura (iil) 1985
(d)  Punjab (iv) 1986
Code
(1 @ () (@
) GV ) @)
@ () (v O )
@) i) @) @) (@)
@0 @) @ )

Which committee felt that the Panchayati Raj institutions could have survived well if they
had been encouraged well by entrusting responsibilities as a “vanguard of development in
village India” ?

(1)  Asoka Mechta  (2)  L.M. Singhvi (3) GV KRao (4)  P.K. Thungan

Who was the Chief Election Commissioner who wrote a letter o the President of India
recommending the removal of Election Commissioner ?

(1)  Navin Chawla (2)  N. Gopalaswami
(3)  T.N. Seshan (4) M5 Gill

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select the correet answoer from the code given below ¢

Assertion (A)
Law and order is the responsibility of the District Magistrale.
Reason (R) :

Law and order is still one of the major problems in India.

Code :
(1)  Both (A) and (R) are true and (R) is the correct explanation of (A).
(2)  Both (A) and (R) are true but (R) is not the correct explanation of (A).

)
(3)  (A) is true, but (R) is false.
) (A) is [alse, but (R) 15 true.



www.prepp.in

34.

39.

40.

41.

prepp

Your Personal Exams Guide

T - 1] =0 - 11 H GAd shitee SR A @8 7 %2 § W&l 3w g

gl - 1 =it - 11
(=% T8 FSTeeh WY She ShT WHAT g1 ) (=)
(a) =TEH (1) 1988
(by T (i) 1985
(¢) {—ﬂ?-[ (ii1) 1985
(d) TS (iv) 1986
ehd ;
(a) (b} () (d)
(1) (v) @) @) @)
(2) (1) @v) (@) (i)
(3) (m) (1  (v) ()
(

(4) () (D) (i)

fore wfafe =1 =g fomm o To e U Seeamd wwae &7 9 =ordl &d afg I 9ra § fosma &

T % ®Y H % FreliAl |9 o 3% gafad € 9 Uedrtsd fewar st ?

(1) =79 el (2) TUAWH fEEEl  (3)  Sidl e (4) HLEE T

foh ] T A9 ST - 9RG o6 20rd i U3 fol@eh FA1a STRIE o1 g2 o1 THIer =1 of ?

(1) =& =Ee (2) UA OOl (3)  ZLUA 9 (4) TATE. T

[ — = =

A= S e Tod T 2, Tk o1 SUERYT (A) 3R S8 &1 Tk (R) F=1 T B 1 A T T F:2 W
yg'rgﬁj\- TJF = ;

SR (A)

FIA FR =reree feresi =i g 7
ek (R)
FHHA TR e qid | AT o U TE §Ee 9 58 §

che :

(1) (A) 3 (R) T T4 ¥ 37T (R), (A) T FET TTLHIT T |

(2)  (A) SR (R) S |7 &, T (R), (A) T T TILHI0 A&l 2 |
(3)  (A) §F T, TG (R) $T9A ©

(4) (A) 3T9@ T, T (R) ¥ T |
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Match List - I with List - IT and select the correct answer from the code given below

List - I List - I1

(State) (State Parties)
(a)  Bihar (1)  Apna Dal
(b)  Woest Bengal (1)  Indian National Lok Dal
(c)  Uttar Pradesh (1)  Revolutionary Socialist Party
(d)  Harvana (ivl Lok Janshakti Party
Code

@ ® (© (@
1 @) 6@ © )
(2)  (v) @) @) ()
Gy @G (i) ()
@ O @) @ (i

Who of the ﬂ.‘:]k‘}wing was not a membeoer of the Towards Fq‘rmh'fy report ?
(1)  Lotika Sarkar (2)  Neera Dogra

(3)  Vina Mazumdar (4)  Sushila Navar

Match List - T with List - IT and sclect the correct answer [rom the code given below :
List -1 List - II
(Type of Pressure Groups) (Name of Pressure Groups)

(a)  Based on traditional social structure (i) Associated Chamber of Commerce and
Industry in India

(b)  Based on labour interest () Nair Service Society

(c)  Based on institutional interest (iii)  Delhi Universily Teacher’s Associalion
(d) Based on business interest (iv) Hind Mazdoor Parishad

Code :

@ (b)) (o
(1) (@ (@) Gv) |
(2) () () () ()
(3) () () (@ |
@) (v) @ )
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42. T - 1 % Tl - 119 gafod 1o SR = fod 78 2 9 W@ 39 =91 HI0

'gﬂ\%ﬁ‘ -1 = - 11

(=) ( T WT <)
(a) ToRR (i) 379
(b) OfT=™ = (i) HNdE T ol g
(c) S AW (iif) T Qe o=l
(d) = (iv) TR STt Tl
ohd

(a) (b} () (d)
(1) () (m)y (@) (1)
(2)  (v) (m) (1) (1)
(3) (Y @) (W (iv)
(4) (O (v) (1) (i)

43, T=faEd W 9 %[ Za29 gaayiciel RUle o e @l 972

(1)  <AifenT K (2) HERA
(3) O HAHER (4)  HITer AR

44, g - 11 g - 119 e Ffew sik = T g & W I 9

Tt -1 = - 11

(e AYEl ST YRt ) ( Sarel WHE T ATH )
(a) OURe WIS HEA1 9T ST (i) TUHIHTCs =" 3% FHd U se%el o
(by  #if|ek fea = st (i) TARR wfdg g
(¢)  HETTT fed 9 ST (i) Tooert favafaarem e w9
(d) =eEigsh fgd W e (iv) T Horg wiowg

(@) (b) (o)
(1) 1) ) (v) |
(2) (i) (v) (D) ()
(3) (m) G (1) (i
&) () @ )
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Which of the following are the main problems of nation building in India ? Select the correct
answer from the code given below

(a) Poverly

(b)  Iliteracy

(c)  Trade Unions

(d)  Corruption

(¢)  Regional Political Parties
(f)y  Terrorism

Code :

Which of the following are the models of reforms identified by Peters as altermatives to the
traditional public administration ?

(a)  Market Model

(b)  TParlicipatory State Model

(¢} Flexible Government Model

(d)  Deregulated Government Model

Select the correct answer from the code given below :

(1) (&) and (b)
(2) (a) and ()
(3)  (a), (c) and (d)

(9 (a), (b), (©) and (d)
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L) L)

R | wra § Tz feior =6t ge wwerd sl €7 A fou e e § 9 Wi S =g

[ A

FISIT

(a) TAef=an

(by e

(c) FI T

(d) Y=ER

(e) &= TSHITGH 3
(f)  erdEar
ETR

(1) (a), (b), (&), (I)
(3)  (a), (b), (d), ()

FfaiEgd 5 & o " GUR 9faqM 8, Tl d2Y ° RRra @ik 99 & faeshedl o ®9 o

TEE R 47 7

(a) IS 9fdHH

(b)  YTTrERT STefed T IiaHT
(c) ¥ HIFER HiaHH

(d) TelfT=te g giaam

= fou T4 e O § Wel W T FL

(1)
(2)
(3)

(4)

(a) IR (b)
(a) 3T (c)
(a), (c) ¥R (d)

(a), (b), (c) 3T (d)

(2)
(4)

(@), (0), (), (), ()

(b). (d), (e). ()
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Arrange the following administrative thinkers in chronological order :
@) Willoughby

(b)  M.D. Follet

(c) L[.W.Riges

(d)  Robert Dahl

Sclect the correet answer from the code given below ¢

(1) (b)), (a), (d) and () (2) ), (b}, (¢) and (d)
3)  (b), (), (©) and () @) fa), (), (b) and (@)

Who among the following gave the 41 - Formula for departmental Organisation ?

(1)  Tayol (2) Urwick (3)  Gulick (4)  Mooney

Given below are two statements, one labelled as Assertion (A) and other labelled as
Reason (R). Select the correct answer from the code given below :

Assertion (A) :
Herbert Simon has ridiculed the classical theory of organisation as a machine model theory,
Reason (R) :

Classicists are oo much preoccupied with the formal structural part of organisation and
that too at the cost of human factors.

Code :

1 Both (A) and (R) are true and (R) 1s the correct explanation of (A).
2)  Both (A) and (R} arc true, but (R) 1s not the correct explanation of (A).

3y (A) is true, but (R) is false.

(1)
(2)
(3)
(4)  (A) is [alse, but (R) 15 true,

Which of the following statements is not correct about the Right to Information Act ?
(1)  The Right to Information Act came into force on 12 Oclober 2005,

The Freedom of Information Act, 2002 has been repealed.

The Official Secrets Act, 1923 has also been repealed.

(4) Central Information Commission and State Information Commissions have been
constituted.
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TR 99MHeh Tedehi ohl hlclehd § sAa&eld shifald :
(a) Tt

(b) WA wiee

[
(c) TUhS. ITH

(d) 2 2qd

A o0 70 62 | © WEr 37 R FA R

(1) (b), (@), (d) 3R (o) (2) (@), (b), (¢) S ()
(3 (b), (@), (0) ¥R (d) (4)  (a), (), (b) I (d)

frefertaa o o e fauri wied & feg 4 oi-winer fea ?
(1) 2) = (3) Tl @

At g1 A ol T €, T ] AR (A) ST gEL i ek (R) R TS| A fod MU Fe H 9
el I A A

TR (A) ¢

g2 | H GaA o I G i Ueh 93 gfaam fagia o =9 4 figedd] 528 21
qEh (R) :

yIETAdTETer 9789 o SiT9=iss SaE=reas 97 =F 9 37¢4d doeid T8d & 31 9 7% UMd [ &1
ST T R 2 |

che :

(1) (A) W8 (R) IH1 T2 § 3R (R), (A) T HGT TTLIHIT T |

(2) (A) ¥E (R) 31 931 B, TH (R), (A) 1 Hg1 TILIHII TG S |
(3) (A) W&l T, off (R) 7o € |

(4)  (A) 7T 2, TR (R) Hal 2 |

AT 3 SATHHR ATHMIH &6 o H FEaiE@d § | &M | %Hyd 92 Tal 2 2
(1) = F sfuesr s1fufm 12 $FRER, 2005 F Ar g |

(2) = I TSR ATHEE, 2002 1 F: fem 7§

(3) VISR AT ATHMIH, 1923 261 I T T T 2 |
)

(4)  FSM GAA AFN AR T T SR bl T3d a1 T 2 |
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73" Constitutional Amendment provided for

(a)  Constitutional status to rural and urban bodies

(b)  Three - tier svstem for all Panchavali Raj Institutions

(c)  Direct elections of Chairpersons and members of Panchavati Raj Institutions at all levels
() Audit of panchavat funds by CAG

Select the correct answer from the code given below :

(1)  (b) only (2)  (a) and (b) only

(3)  (a), (b) and (c) (4)  (a), (b) and (d)

The Central Information Commission consists of the Chief Information Commissioner and
Information Commissioners ¢

(1)  not exceeding three in number
) not exceeding five in number
(3) mnot exceeding seven in number

not exceeding ten in number

Who among the following said, "Development administration is an action - oriented and
goal - oriented administrative system” ?

(1) F.W. Riggs (2)  Rdward Weidnoer
(3)  Ferrel THeady (4) Tl Walker

Which of the following are the voluntary provisions of the 73" Constitutional Amendment
Act 1992 7

(a)  Providing reservation for backward classes

(b)  Setting up a State Fimance Commission

(c)  Making the Panchavals aulonomous bodies

(d) Giving the Panchavats financial powers in relation to taxes, [ees, elc.
Select the correct answer from the code given below :

(1) (a) and (b) (2) (b}, (c) and (d)

(3)  (a), (b} and (¢) (4) (a), {c) and (d)
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51. 739 dfaym 9eny"T o sagsen =7 T2 ©

(a) UTHIY Ud VRl el w1 "eartaes g

(b) =Tl TS T W Henst = fau Bl srae

(¢) UERE TS & W W W Al SR weE] & ueae A

(d) o7 (Treren o weTeren Tiierh) R e shi Tt it oien gifan

A fow T e H 9 wd s g

(1)  =Haa (b) (2) A (a) 3R (b)
3)  (a), (b) E (0) (4) (), (b) &R (d)

Nom

52. H=d G SR H GE YA a3k YA A 2d 8, e

(1) | o | 1t =8l gl §
(2)  Hem U ¥ sty 19 B T
(3) HE 9 Y S 8 Bl ¢ |

(4) e T Y wfus T2 A T

53. Treafalea d o ford wer - ' foaemme emee U &R -39al 3R Seya-s-al yeneiTe ey g 2"
(1) TUFz=g foa (2) TEaE faE®
(3) Il g3 (4)  THE. FHL TERT

54, 739 Hiag "eneq sfafaag, 1992 °§ Fefated 9 9 ey Efegs 9ayE © 2

(a) 19 S ] =h! ST TS i

(b) T4 o 3TN ol TATIAT el

GERERGEIR=ICERECIREERIE]

(d) =, w" i & "9y H 9=9rdl 1 fada siTyeR ugM ]

(1) (a) I (b) 2) (b, () #N (d)

3)  (a), (b) 3R () 4 (@), () 3T (d)
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Match List - I with List - II and select the correct answer from the code given below

List - I List - 1T
(a) Hota Committec (i)  Centre - State Relations
(b}  Santhanam Committee (if)  Civil - Service Reforms
(c)  Sarkaria Commission (iii) Prevention of Corruption
(d)  Yashpal Committee (iv) Higher bEducation Reforms

Code :

(@) (b) () (d)
(G @

() (m) (@ (@)
) () (i
(4) () () @) (i)

Eenia P8
A [~
R P —

Promotion to higher position involves :

(a)  Change of title

(b) Change of pav

(c)  Change of duties

(d)  Change of responsibility

Select the correct answer from the code given below .

(1) (a) and (b) only (2)  (b) and (c) only

(3)  (a), (c) and (d) (4} (a), (b), (c) and (d)

The process by which the selected candidate is sent for an appointment is known as ¢

(1)  Selection (2)  Appointment  (3) Certitication (4)  Placement

Defending policy is the function of ;
(1) Line agency (2)  Stafl agency

(3)  Auwxiliary agency (4} Both Stalf and Line agencics
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(a)
(b)
(¢)
(d)

il - 1

EEIRSIEIG (i)
T " (i)
TR HTA7 (iii)
ATl | (iv)
(@) (b} () (d)

@ @ ) (v)

() () (@) ()

(i) (i) (i) (iv)

(v) () @)  (m)

56. 3= 9% 9T yEfg § gfefeaa &

iTery. SR < fe T 2 H 9 |a I G

el - 11

Hg-T9 Hay

fafeer a1 & gur

YT 51 UheTH

3o Toran § g9

e (b) 3R (c)

(a), (b), (c) T ()

57. @8 AUl TieRdl § T gl U 99t SR =i ffaa = fora Sermen = 91 ¢ -

™

(3)  THRL (4) e T

2T TS

(a) W& H diEd
(b)  Fdd H TEdA
(¢) hasdl H TR
(d) SEEIEe H g
4= fou T4 e O | WEl I ] T FHifA
(1) S (a) 3 (b) 2)
(®) (@), () 3R (d) (4)
0]
(1) =9 (2) TR
58. Hifq &1 g9 Aefatga 9 9 fsasm =9 €
(1) @ Tt (2)
(3) HETHF TSIl (4)

=% TSl $TR @reT ueitaat g1
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Who among the following are the critics of the bureaucratic theory ?

(a) Talcott Parsons (b) Michel Crozier (¢)  Robert Presthus (d)  F.W.
Select the correct answer from the code given below :

M @
(2) (b} and (d) only
(3)  (b), (¢) and (d)

@) (), (b) (0) and (d)

a) and (b) only

Who among the following rejected the politics - administration dichotomy ?
(1)  Woodrow Wilson (2)  TIrank Goodnow
(3)  Herbert Stmon (4)  Robert Merton

prepp
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Riggs

Who was of the opinion that survival depends on a state’s malterial capabilities and its alliances

wilth othoer states ?
(1) John Mearsheimer (2)  Kenneth Waltz
(3)  Thucydides (4) ]. Snyder

Consider the following statements :

(a)  Neo realism and neo liberalism are rationalist approaches

(b)  Neo realism and feminism are rellectivist approaches

(c)  Post - structuralism and neo liberalism are rationalist approaches
(d)  Teminism and post structuralism are reflectivist approaches

Select the ecorrect answer from the code given below ¢

(1) (a) and (b) (2) (@), (c)and (d) (3) (a), (b)and (d) (4) (a)and (d)

Which of the following statements are true about soft power ?
(a)  Solt power can be used by stale actors

(b)  Soft power can be used by non state actors

() Solt power 1s the second face of power

(d)  Soft power is a form of idealism

Select the correct answer from the code given below ¢

(1) (a), (b) and (d) (2) (b}, (c) and (d)
(3)  (a), (b) and (c) (4) (¢}, (d) and (a)
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Trefafaa 5 9 [ Ah9el THaid o STer= g 7

(a) ZTeRle TR (b) WREFA FER () e yred (d) UwEwd, fod

A= fau 70 2 § 9 W& I R FIA hifA
1) #Fad (a) FIR (b)

2)  HEd (b) AN (d)

3)  (b), (¢) ¥R ()

(
(
(
(4)  (a), (b), (c) R ()

fr=fafaa § 9 e vsefa-womes f§ a1 swdrsa fwmar an?

(1) T4 foowm (2) T TS (3) e HigHA (@) T T

g Torgen To= o T ‘ Sasiifaa) T =kt Hifdess @a9a) den & 14 ° 390 9rm] Ay s

=t [
% |

(1) S HHH (2) hY AT (3) <gfaSEe=d (4) . FEeT

ARG SH¥9H 9 To=E shifely

(a) @ AT 3T 9 ITLAS TG ST € |

(b) e AIefETE R ARERE SfaAaR S9R € |

(¢) TW-HLEAERE 9T 76 ITRAE ThelGotral IUNH T |

(d) ARER SR W -HEAER A FaTaEl 3arH 2 |

SRR T e F R R |
(1) (a) ¥R (b) (2) (@), (@@ () (@ G @) ()R

Mefafed A S - Fy g vaa & 9L § Wal & 7

(a) 9 VI =61 STANT U591 Halsl g1 A1 51 9961 7 |

(b) 15 vIieRl =1 I9ART TR U Shdisd] g TRl S el € |

¢y T9 vifag vifed =1 o9 weE T
N

(d) Y Y AR F UF €9 |

A g8 T o2 | W I A
(1) (a), (b) 3R (d) (2)  (b), (c) 3T (d)
(3) (@), (b) # () (4)  (©), (d) # (a)
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Which one of the following is not a Kantian influence that acts as a constraint on War 7
(1)  Democracies will refrain from using [orce against other democracies

(2)  Economically important trade creates incentives to maintamn peaceful relations
(3)  Global civil society exerts itself

)

Inlernational organisations can constrain decision makers by promoling peace

Find out the incorrect stalement/s aboul Johan Galtune’s models of conllict, violence and
L
pRae

(a) IHe suggested that conflict could be viewed as triangle with contradiction, attitude and
behaviour

(b)  He talked of structural, cultural, direct and indirect violence
(c) e discussed about peace building, peace making and peace keeping

(d)  He explained about direct war, proxy war and Intrastate

Code
(1)  (a) and (d) (2)  (b) and (¢)
(3) (&) and () (4)  (a), (b) and (¢)

Match List - T with List - IT and sclect the correct answer [rom the code given below ¢

List - I List - II
(Authors) (Books)
(a)  Stephen Kraser (i)  Empire of Civil Society
(b) ]. Rosenberg (ii)  Irom international to World Society
(c)  E.M. Wood (ii1) International Regimes
(d)  Barry Buzan (iv) Empire of Capital

Code :

(a) (b) (o) (d)
(1) (i) @) @O (v)
(2) () (@) (v) (i)
(3)  (v) @) @ (i)
(4) (i) (1) (iv)  (iid)
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frefafaa © 9 &M wie & fagral =1 99 78 & 51 g6 W 930 o ®9 o i Far § 2

(1)  <Iehdsl = Seha =i oh {965 ot 1 T shid § GL&S i |

(2)  eAeR w9 § HEwegy] AR IqgYl el &) a9 Ta H Yeded o 97 i §

(3)  ofvem A 9urs 9 g Ha ©

(4) STLUSIG G M 1 S et (g faaiaiel =1 fafd o ehd 2 |

o, TEE den ohifd =k s | SieM Melqi o idaHi < = H Terd kel 9t fo=n sifs

(a) == e fean fo e ] weem foy, agfa qur s5eer = e = €9 9 8] S 9§ |

(b) 3 TLAATCHR, HIEhaah, Toasl au Scas T8 =1 o1 =i |

(c) =2 wrifq fmTo, wrifq ToTe uel vitd e & =i i |

(d) T"IH GHE A5, DGH g5 S STAU-UA A5 i AR i |

@;\T-lﬁ':
(1) (a) ¥ (d) (2) (b) ¥ (o)
(3) () AR (¢) ) (), (b) AR ()

Gl - [ 1 G0 - 11§ gafea st R J= 27 10 %2 9 wel 398 97

L) L)

Tl - 1 = - 11

( i ) ()
(a) ETHA HH (i)  TETEL ATE T JEEdd
(b) <. Tora (i) TR I=EYEA < 9ve HHEEa)
(©) T e (i) FELTEEel S
(d) 98 FEH (iv) TP 3% hfuzal

ohe

@ © © @
M @@ 0 )
@ @) @ ) @)
@ ) @ O
@ () 0 v i)
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Which one of the following pair is mismatched ?

(1) World or Global Security - World community or human kind
(2)  Socictal Sccurity - Socictal needs

(3)  Economic Security - Weltare

(4)  Environmental Sccurity - Resources

Which of the following have emphasis in India’s nuclear deterrent :
(1) TLarge numbers and deterrent force

(2)  Nuclear parity and capability to retaliate

(3)  Small numbers and capability to deter

(4)  Deterrent force and nuclear parity

Consider the following statements about National Security Council (NSCI) of India :

(a) It's a three tier organisation consisting of strategic policy group, joint intelligence
commitlee and National Security Advisory Board.

(b)  Ministers [or External Affairs, Defence, Home, Finance and Commerce are its members
(c) It was [ormed in the vear 1998

(d)  The former Nalional Securily Advisers were Brajesh Mishra, ].N. Dixit, K.P. Singh.
Select the correct answer from the code given below .

(1) (d), (c) and (a) (2) (a) and (b) (3) (), (d)and (b) (4) (a) and (d)

Which one of the following is/are incorrect statement/s :

(a)  The 'Neemrana Dialogue’ is on India - China Relations

(b)  The "Ottawa Dialogue’ is on India - Pakistan Relations

(c)  Shangri-La Dialogue is on India - Singapore Relations

(d) Raisina Dialogue is India’s flagship conference of geopolitics and gececonomics
Code :

(1) (a), {(b) and (c) (2) (b}, (c) and (d)

(3)  (a) and () (4)  (¢) and (d)
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67. TEAATEd § ¥ A-H1 g4 gHfed =21 2 7

(1) =ee =R Teea [HwfE] . fove wogm w1yen AME S
(2) ST YA - qATSE AT

(3) AR e T

(4)  IATERIT T A

68. TrrafEd & 4 foraem 999 YR =1 AT DIt Faies W 8 2

(1) st g aur fAans vifEg

(2) ITHIY] HHMA SR GidehR 3 F &Hal

(3) =W G@A a9 AR H w1 Ea

(4)  T9eMa =t qen TEHTY FHMHA]

69. T i LA FLe Ufog (U7 u" H 11%) % R ° fHefaftaa s w fa=n wifas

(a) B U TI-wE Hied § foeH @i A wyg, "9 giea |t aur U g
HARFHR S UMHa £ |

by Tacw w30, e WA, Y7 HIAl, o WAl qen AT HiAl Tk 9SEH ¢ |

¢)  THR TG Y 1998 H T TE o |

(d) IF T TR TR 9 - gyt Ty, oA <ifera, o e

(1) (D), (@3 (@@) (2 (a) 3R (b) 3) (@ R (B) (&) (a) W ()

70. TAfGfEd 5 § &M @ %eH 3159d /8 ?

(a) ' ERET EEl RG-S Sedl ok fgva g

(b) " ST AEl AR e Hae ot H 7|

(¢) HRIE Al TRA-THMR Heeli o Fva | 2

(d) T ardl o USHITG a9 4 steerera o fao H 9Rd 1 RO 9 7

_qg'\_c." 3
(1) (a), (b) 3T (¢) (2)  (b), () ST (d)

() (a) ¥R () (4)  (¢) S (d)
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Consider the following statements about India’s role in United Nations. Which of the
statemenlts are correct ?

(a) India is a major contributor to UN Democracy Fund
(b)  Indian delegation to San Francisco Conference of 1945 was led by Vijayalakshmi Pandit
(c)  In 2001, India piloted a draflt comprehensive convention on International Terrorism

(d)  India submitted along with other countries an Action Plan for phased elimination of
nuclear weapons 1996 - 2020

Select the correct answer from the code given below :

(1) (a), (¢) and (d} (2) (&), (b) and (c) (3} (a) and (d) (4)  (¢) and (d)

Given below are lwo slatements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select the correct answer from the codes given below :

Assertion (A) : Stales continue to exist as sovereign states.

Reason (R) : Globalizalion has weakened the Westphalian state system.
Code :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2)  Both (A) and (R)

(3)  (A) is true, but (R) is false.
(4)  (R) is true, but (A) 15 false.

are true but (R) is not the correct explanation of (A).

Match the List - I with List - II and select the correct answer from the code given below :

List - I List - II
(a)  Wassenaar Agreement (i)  Stopping spread of chemical and
biological weapons
(b)  Australia Group (ii)  Non proliferation of nuclear weapons
(¢} Nuclear Suppliers Group (iii)  Export control for conventional arms and

dual use technologies

(d)  Missile Technology Control Regime (iv)  Non proliferation of systems intended [or
the delivery of WMD

(@) (b) (o) |
I 1) O B ) I
2) (i) (i) (@) (iv)
) () (D) (D) (
(4 ) ) Gv) |
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- % u,

T %2 €9 < Hed H vRd i A & fava 4 faefafed sl o o 6 396 § [ ¥
FIT FA T 7
(a) RA W I TGS A4 F IE ST |

(b) =N 1945 T T WIEEH Ar0ed H ARG 9iaHa Tea w1 Agedl fasaersdt ufed F fHar on)

() F9 2001 | YRT 7 WL #ATdhelle T Weh HFHH ok =419k — YY1 JI G904 fha |

(d) AR q & <INk WY EUEg qlsh | THY] UARl @i GHIS HIH i d AT -
1996 - 2020 W& =T |

A fed T 2 9 WE I A

(1) (@, @) (2) (), GIT(Q) ((3) () 3R (d) 4) () ¥ (d)

A T oA 28 T €, Uk ol AR (A) 3R T &1 @k (R) &l 741 2 | A 80 T4 2 3 Fel
ITR ! G

SR (A) :

U= 3101 off w9y 19 = ®9 ° faeme 7

ek (R) :

YA H AR U5 U] SR 85 © |

ohd

(1) (A) ai‘r{(na]a‘wmmmm) (A) T Tl TIEEH 2 |

(2)  (A) R (R) 3FI ¥4 T TFF (R), (A) 1 & TR 76 T
(3) (A) 97 7, olfehd (R} HEA B |

(4)  (R) ¥ %, oIfFT (A) 219 €|

e

Tl - 1 o1 T - 116 gafer i i1 A= fog 70 %2 3 Hal ST H =91 H

Tt - 1 =l - 10

(a) SRR T (iy  TEEAE TE Stk AR o THR F U]

(b) ST e (i) AT AN 1 STIER

(c) “afasr g 1 (ili) ORI BT 91 Uil o gl S9A
EIRERIGRECAERER

(d)  9&IUTE UrEfient s saawen (iv) SHEe faam ot i =1 g9at g Jore]
1 HATHN |

ehe
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Which one of the following statements is incorrect 7
(1)  New Development Bank is a mullilateral development bank established by BRICS
(2)  Asian Intrastructure Investment Bank is an initiative of China

(3} WIO recognises least developed countries as those which are designated as such by
UNO

(4)  International Finance Corporation offers political risk insurance and encourages private
sector development in developing countries

Consider the following statements with regard to Security Council :
(a) India became member of Security Council seven times

(b)  Japan became a member of Security Council eleven times

(c) It appoints non permanent members

(d) Tt appoints Secretary General

Select the correct answer from the code given below :

(1) (a) and (b) (2) (b} and (c) (3) (b)) and (d) (4)  (d) and (a)

~olo-
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(1) = SorevHe o= (999 Tl gRI S0t U =g 94t [ o ¢ |
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(3) Tovea =R Hwed (Twee €1 311) 39 33 I Wallds 31eq famiaa <9 =1 9=l UgH % §

fr=g T o W9 U7 Aifees faar €1

(4) RO o T faeheie <9 4 UsHiTdes SiiEd S| Ued el © a91 sl &9 &

(EahTH ] UTETET S =hidl T |

e aftug o Hele § fefefen sl w = Sify

(a)  IRT HIAI Tug w1 & 9id o1 &1 |

(b)  SITA Y& Uug h & TARE o &4 |

(c) T2 TErEl weEd w1 Frger el 2

-

(d) a2 HREEE & g Ll 2 |

A< 54 T %2 WS IW G
(1) (a) 31 (b) (2)  (b) ¥R (c) (3)

- oo -

Y

(b) TR (d)

(4)  (d) ¥R (a)
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